F10[E] 7o TR0~V AKX — ANk =202 0
1A ;2020410 H 17H (+) 2 RACTAB F—24(25m)
1/1
No.46 BB+ 100mEANA FL— MREE 1:17.58
L 15~79m% > Elﬂ:%%ﬁ 1:21. 25
B K4 TR R JKE& BF B #rEcEx
1 AR TOTODC 1/ 2 1:27.54
40. 42
No.46 B+ 100mEAN A FL— HRE®  1:05.43
& 65~69% > BAZE 110 47
B K4 TR ER R K& B M #EcEk
1 KRl 2 v A /3 1:20.79
38. 69
No.46 B+F 100mEAN A FL— HREG  1:0423
& 60~64m% > Elzk%%ﬁ 1:06. 53
B K4 [PigE iy K& B [ FEcEk
1 EH i o5 I =M 1/ 6 1:20.55
37.29
No.46 B+ 100mEAN A FL— — 57 69
& 50~54%% > HAES  1:01 20
B K4 FrERR R K& BF fEl  #TEcExk
1 Py e a3 = 1/5 1:18.71
36. 00
No.46 B+ 100mEAN A FL— — 56,91
L 40~44% > BARE 56. 91
B K4 TR E& R K& B fEl #EcEk
1 AF I Y A 2 BB 2/ 4 1:02.85
29. 49
2 M Kot (EPNE Il 1/ 4 1:07.94
30. 58
No.46 B+ 100mEANA FL— p— 5491
& 35~39m% > Elzk%%ﬁ 56. 29
B K4 [PigE iy o K& B M FEcEk
1 K% 7] i 2/ 3 1:09.50
31.83
2 ITH OmE 7R A 2/ 6 1:17.50
35. 81
No. 46 BF 100mEAN A FL— p— 5347
&L 25~29m% > BAE 54. 80
B K4 FrER& R K& BF R #rEcEx
1 AT = F—A1TH )N 2/ 7 1:35.80
40. 15
No.46 B+ 100mEN A FL— p——
L 18~24m% > A& 54.75
B K4 FET =T K& B #rEcEk
1 #hH i (EPNE Y 2/ 5 1:10.29
32.14
2 WRH R (EPNE Il 2/ 2 1:23.83
37. 96

HAOHME . 10H17H 14:31



